PVRR23F R E R AT REA W (TH)
B IR B AR RS & BT S 5 —
oo B B

1. KRB0 (P15 1 7 SR 5 B BLTIE)
F ) &R (C) B 7K & (mm) H Ry ] (h)
LS R 7 A PR 7 A | AR 7
+ A 26.6 | 25.3 +1.3] 505 | 48.4 +2.1] 527 | 54.1 - 1.4
) 269 | 26.6 +0.3| 266.0 | 58.7 [ +207.3] 60.0 | 57.6 +2.4
G 26.7 | 27.8 11 0.0 | 4L.7 [ -4L.7] 41.2 | 839 | -42.7

AAE T ROMILT/21-7/28DF —Z TEHELTWET, (7/29-7/310F —ZZA>TWER A, )
I. FEADELERL

(@ e ]
BgA x|
BT R T, /R S T A 7/11-14
AR E A E 5K F& A AR e S
i 4, woo» % oan EE L
# W} H 9 9 1 0 0 19 52.6 % W 3.4 14.5
( /& nm B ) 5 6 0 0 0 11 54.5 3.1 13.6
( ™ ;oo 1 1 0 0 0 50.0 1.5 12.5
( & m = ) 3 2 1 0 0 6 50.0 4.5 16.7
4 i I3 18 1 0 0 0 19 5.3 ¥ W/ E 0.4 1.3
( ® & nm ) 11 0 0 0 0 11 0.0 0.0 0.0
( ™ ;o) 2 0 0 0 0 2 0.0 0.0 0.0
( & m = ) 5 1 0 0 0 6 16.7 1.2 4.2
= B * A4 A 19 0 0 0 0 19 0.0 # F ¥ = O 0.0 0.0
t v T om vy op 9 10 0 0 0 19 52.6 B ¥/ Bk (5H ) 0.15 13.2
( B/ & mn 7)) 5 6 0 0 0 11 54.5 0.21 13.6
( ™ #woo) 2 0 0 0 0 2 0.0 0.00 0.0
¢ d& wm  # ) 2 4 0 0 0 6 66.7 0.10 16.7
FE T4 my A 19 0 0 0 0 19 0.0 & %% / #k (F ) 0.00 0.0
?I;g\ g ﬁﬂf% /ﬁiﬁ) 11 6 2 0 0 19 42.1 % /20 79 (5 ): 1.6 13.2
a 7 ) A A A 16 1 2 0 0 19 158  # & B o O 1.9 6.6
HoOE O R 19 0 0 0 0 19 0.0 % & E = 0.0
- A 19 0 0 0 0 19 0.0 % W x 0.0
ok E M OW 19 0 0 0 0 19 0.0 % W E % 0.0
(= /A N 19 0 0 0 0 19 0.0 % W M = x 0.0
LI S R 19 0 0 0 0 19 0.0 % 7§ K = = 0.0
e e ] 19 0 0 0 0 19 0.0 % W M & x 0.0
b A ME T VoA 10 0 0 0 19 52.6 25 B v b Lok 13.2
Ve stmaan 4 4 15 0 0 0 19 78.9 25k i v ¥ & Lok Hox 19.7
£ % 7w A Ay 18 1 0 0 0 19 5.3 25 Bk M b kB« 1.3
1 FFvy Tt 19 0 0 0 0 19 0.0 25Kk % v B« 0.0




BRI T /MR S i

AL 7/25-7/28

I R R BB R FEAEFR R R
5 7 1 4 I L
o 5 0B 15 3 0 0 0 18 16.7 % % B R ) 0.1 4.2
( ® & nm ) 10 1 0 0 0 11 9.1 0.1 2.3
( ™ ;o) 1 1 0 0 0 2 50.0 0.1 12.5
( & m = ) 4 1 0 0 0 5 20.0 0.1 5.0
X i ] 15 4 0 0 0 19 211 %/ E 1.2 5.3
C & w &) 2 0 0 0 11 18.2 0.9 4.5
( ™ o) 0 0 0 0 2 0.0 0.0 0.0
( & m & ) 4 2 0 0 0 6 33.3 2.2 8.3
= B * A4 A 19 0 0 0 0 19 0.0 # F ¥ = O 0.0 0.0
t v T om vy op 10 9 0 0 0 19 47.4 B ¥/ KR (O 0.13 11.8
(/& n 7)) 7 4 0 0 0 11 36.4 0.13 9.1
( ™ W) 0 2 0 0 0 2 100.0 0.04 25.0
C d& m & ) 3 3 0 0 0 6 50.0 0.17 12.5
[ G- A 19 0 0 0 0 19 0.0 H %/ Bk () 0.00 0.0
f‘f ZE ﬂ;” ;HA é ﬁ; 10 9 0 0 0 19 47.4 /100 % ( 5E ): 0.8 11.8
a 7 ) A A4 H 16 3 0 0 0 19 15.8 LHE2EOHBEEE®: 0.0 3.9
= B ] 19 0 0 0 0 19 0.0 % % E x 0.0
I OF OE M W 19 0 0 0 0 19 0.0 % Jw E 0.0
ok E M W 19 0 0 0 0 19 0.0 % % E x 0.0
(= S/ B | 19 0 0 0 0 19 0.0 % W B R x 0.0
F I S R 19 0 0 0 0 19 0.0 % W M = x 0.0
* e ] 19 0 0 0 0 19 0.0 % 7 K FE x 0.0
b A b T Y oyoh 7 12 0 0 0 19 63.2 e B HoL &L R H 15.8
Ve wmgan’ 4 8 11 0 0 0 19 57.9 %5 Kb v % &L R Hox 14.5
{ % 78 h A LAY 16 3 0 0 0 19 15.8 25 Bk ¥4 0 s % * 3.9
1 FFry vy tt) 19 0 0 0 0 19 0.0 25Kk % v # ¥ x 0.0

IR
[
& & o

T T /A T BT T
SRR, HELAT
ALSSHT, Bl B




e A 1

A T, PR T

AT 7/13-14

AR R B S AR R
15 w0z oaH SED L
#w H 15 13 1 1 0 30 50.0 ¥ W JE 5.7 15.0
( R i ) 2 0 0 0 6 33.3 1.2 8.3
C W ™m &= o) 0 0 0 0 2 0.0 0.0 0.0
( 4 9+ # ) 4 9 1 1 0 15 73.3 10.8 23.3
( [i] i ) 5 2 0 0 0 7 28.6 0.3 7.1
X i ] 29 1 0 0 0 30 3.3 % O/ Bk R O 0.8 0.8
(K il ) 0 0 0 0 0.0 0.0 0.0
C W M & ) 0 0 0 0 2 0.0 0.0 0.0
( & & & ) 14 1 0 0 0 15 6.7 1.6 1.7
( i) i ) 7 0 0 0 0 7 0.0 0.0 0.0
= B A A4 AH 30 0 0 0 0 30 0.0 # = t == 0.0 0.0
R = VA 7 16 14 0 0 0 30 46.7 B ¥/ KR (FE D) 0.171 11.7
(K il ) 4 2 0 0 0 33.3 0.50 8.3
C W ™M = o) 2 0 0 0 0 2 0.0 0.00 0.0
( & & & ) 5 10 0 0 0 15 66.7 0.13 16.7
( i) i ) 5 2 0 0 0 7 28.6 0.02 7.1
[ G B A | 30 0 0 0 0 30 0.0 % / # (#E O 0.00 0.0
?I%E %ﬁ Eﬂj% ’ﬁiﬁ) 8 11 5 5 1 30 73.3 b % /20 7 ) (EH ): 6.7 33.3
ST N 30 0 0 0 0 30 0.0 % % E x 0.0
I OF OE O W 30 0 0 0 0 30 0.0 % Jm E 0.0
ok E M W 30 0 0 0 0 30 0.0 % W x 0.0
(= S/ B | 30 0 0 0 0 30 0.0 % W B E x 0.0
F I S R 30 0 0 0 0 30 0.0 % W M & x 0.0
% e ] 30 0 0 0 0 30 0.0 % 7 K HE x 0.0
b AME ST oUh 12 18 0 0 0 30 60.0 25 B o L Ko 15.0
Yo/ s maan’Hg 11 18 0 1 0 30 63.3 B Ho LB 17.5
{ %780t LY 30 0 0 0 0 30 0.0 25 #k % v B K * 0.0
1 F 2y ) 30 0 0 0 0 30 0.0 25Kk % v # ¥ x 0.0




FEE T, BTRE A AR A 7/25-7/28

3 R R B 3 4K AR PR
5 4, woov o & A LN L
#w 5 5 19 4 1 1 30 83.3 % W JE 11.4 28.3
( R i ) 2 4 0 0 0 6 66.7 1.2 16.7
C Mmoo 1 1 0 0 0 2 50.0 2.5 12.5
( 4 A+ F# ) 2 9 2 1 1 15 86.7 16.5 33.3
( . W) 0 5 2 0 0 7 100.0 11.9 32.1
4 i ] 26 2 1 1 0 30 13.3 %/ #k K O 4.4 5.8
( = #wooo) 5 0 0 1 0 6 16.7 12.0 12.5
C W ™M = o) 2 0 0 0 0 2 0.0 0.0 0.0
( & F & ) 13 1 1 0 0 15 13.3 3.7 5.0
( i) i ) 6 1 0 0 0 7 14.3 0.4 3.6
= B A A4 AH 30 0 0 0 0 30 0.0 # = t == 0.0 0.0
R = VA 7 13 17 0 0 0 30 56.7 ¥/ ¥k (ER ) 0.13 14.2
(K #wooo) 5 1 0 0 0 6 16.7 0.01 4.2
C W M & ) 1 1 0 0 0 2 50.0 0.04 12.5
( & F & ) 3 12 0 0 0 15 80.0 0.24 20.0
( i) i ) 4 3 0 0 0 7 42.9 0.03 10.7
FE T4 my oA 30 0 0 0 0 30 0.0 o / # (#E O 0.00 0.0
( R i ) 6 0 0 0 0 6 0.0 0.00 0.0
C W ™m &) 2 0 0 0 0 2 0.0 0.00 0.0
( 4 9+ # ) 15 0 0 0 0 15 0.0 0.00 0.0
( [i] 0 ) 7 0 0 0 0 7 0.0 0.00 0.0
?i%,,f ;‘ ?{ﬂf% /ﬁﬁ; 5 9 11 3 2 30 83.3 M % /20 7 ) (5 ): 6.7 40.0
a 7 A A4 A 23 2 3 2 0 30 233 HOE K OE O 6.3 11.7
= B ] 30 0 0 0 0 30 0.0 % % E x 0.0
T F E M OR 29 0 0 0 0 29 0.0 % W x 0.0
ok E M W 30 0 0 0 0 30 0.0 % W x 0.0
[ I R | 30 0 0 0 0 30 0.0 % W M & x 0.0
F I S R 29 0 0 0 0 29 0.0 % W K = x 0.0
% e 95 30 0 0 0 0 30 0.0 % W M = x 0.0
b A ME YU oH 11 19 0 0 0 30 63.3 2 B 2Lk Ko 15.8
Yoo s maan 4 8 22 0 0 0 30 733w # L Lok 18.3
£ %780t LY 29 1 0 0 0 30 3.3 25Kk % v B ok 0.8
{F vy ¥t 28 2 0 0 0 30 6.7 25 kK % 0 H Bk 1.7

*
Hi fH]
It

DR DR DR TR
=

=

=~

R, M Bl BrRg
PEIRITAAS, IREHT

WP BEAERT, ARCEFRT, _EARET, BT, A AT, SRR

ERH, i, RA L LET




| WA e

R P E A 7/14

R TR R OB M 8 %K A FR P FE
- - FE A [ MAEHEHE KV
A N ANZ
£ O M E & 0 15 1 0 0 16 100.0 # #E g 10.8 26.6
4 ' X N 12 3 0 0 1 16 25.0 W E O ok %) 3.4 10.9
VA NI | 12 4 0 0 0 16 25.0 % & Bk R ) 2.8 6.3
N v = HH 10 6 0 0 0 16 375 & M E E () 1.5 9.4
TR, WM TR 7/27
R R RO 5 kK AT e
o - N & A e HAEHEE KW
Jﬁ = EE 421 Py /} EP =% E = u+ 1}%4&(%) %\é E ) %F 1.1}5/((
B OE M E & 0 13 1 0 1 15 100.0  # E 16.6 31.7
4 E X N ¥ 13 1 0 1 0 15 13.3  # % #E R %) 1.8 6.7
~ 2 = HH 14 1 0 0 0 15 6.7 % A& OE R W) 0.5 1.7
AnTaat vy ge 9 4 1 1 0 15 40.0 #F £ ¥ R x 15.0
(R #i]
IR
ST, VAR AR A 7/12
R RN 5 kK AT e
o e - N P A A [ HAEHEE KW
Jﬁ = EE 421 P /} EP =% E = u+ 1}%4&(%) %\é E ) %F 1.1}5/((
=2 R bt 5 0 0 0 0 5 00 & = % % & 0.0 0.0
P/ VA W S T 4 1 0 0 0 5 2000 8 ® % = K 0.0 5.0
T N X = 3 2 0 0 0 5 40.0 & ® ¥ %&£ =% 2.6 10.0
VA NI | 4 0 0 0 1 5 20.0 % B OHOAY K % 20.0
SAH Y AT YA 3 2 0 0 0 5 40.0 % A E K o« 10.0
At h T h I 5 0 0 0 0 5 0.0 % & W ¥ = 0.0
| 27 F |
PEBRIT AT, LT IR A . 7/12
2R TR R B M 8 kK A FR E FE
- - FE A [ MAEHEAE KV
Pr= A N A2
P/ VA W S T 0 5 0 0 0 5 1000 & = % % E - 0.9 25.0
T N X = 2 3 0 0 0 5 600 & ¥ H £ = 0.8 15.0
VA NI | 5 0 0 0 0 5 0.0 % & #H My K =* 0.0
SAH Y AT YA 5 0 0 0 0 5 0.0 % & # £ x 0.0
At AT hI ) 5 0 0 0 0 5 0.0 % & Hm ¥ = 0.0




WP T AASERT BEERTRR A 7/15

&R R E OB E Y %K T A TR P R ok
i 4 woo» o % oan EEM L
H B2 ] 8 0 0 0 0 8 0.0 ¥ % ¥ £ ) 0.0 0.0
n 7 0 0 0 0 7 0.0 % 7 £ £ O 0.0 0.0
5 0 AR 7 0 0 0 0 7 0.0 I o % 55 R 0.0 0.0
NN = # 5 2 1 0 0 8 375 % & OE R () 3.4 12.5
HoOA A Y M 7 0 0 0 0 7 0.0 # % F £ O 0.0 0.0

W ¥ |
LARET DLW AL LETFHA: 7/25
AR E K F A AR R S

i 4, woo» % oan EE L
R s I3 4 1 0 0 0 5 20.0 HF R % A/ R O 0.2 5.0
5 ¥ A Z 1 4 0 0 0 5 80.0 & #F I K () 1.3 20.0
B B % OE 5 0 0 0 0 5 0.0 % L HE Ok 0.0 0.0
/S SN | 4 1 0 0 0 5 20.0  HE E R OR G 0.2 5.0
NEF)NB NV A 5 0 0 0 0 5 0.0 # & B = x 0.0
VAt aANnTT Ay 5 0 0 0 0 5 0.0 % & B £ x 0.0
NXIH T Iy 5 0 0 0 0 5 0.0 # # F F = 0.0
A 7 ol 5 0 0 0 0 5 0.0 # & ¥E £ x 0.0




| ==z |
Ffe i, SRR 7/14
R R E B3 5K AR R R
15 % A, w0z aH SED N
5 Y A UH 9 0 0 0 0 9 0.0 % 5 # K @ 0.0 0.0
I L G 1 9 0 0 0 0 9 0.0 % i % F W 0.0 0.0
VA AV NERRE | 8 1 0 0 0 9 1.1 % &8 ¥ % ® 0.4 2.8
SNAE v FRY 9 0 0 0 0 9 0.0 # & & 0.0 0.0
" 9 0 0 0 0 9 0.0 #%H £ R ® 0.0 0.0
~NoH = H 5 4 0 0 0 9 444 F £ 3 FE ® 5.7 11.1
ItIFA4RTH I 0 8 1 0 0 9 100.0 % 4 I £ ®) 6.0 27.8
" 6 3 0 0 0 9 33.3 M oE R R 0.9 8.3
H il ¥ 9 0 0 0 0 9 0.0 % W H L x 0.0
VA S P EN) 7 2 0 0 0 9 222 % OB OE o« 5.6
Fa[e i, SR TR 7/26
7R R E B35 g AR R S
15 I T L
5 Y A UH 9 0 0 0 0 9 0.0 % i # K @ : 0.0 0.0
IR L 9 0 0 0 0 9 0.0 % 7 % £ W : 0.0 0.0
VA VNI | 8 1 0 0 0 9 1.1 % & 8 5 % ® 0.1 2.8
SNAE v RY 9 0 0 0 0 9 0.0 #H & & 0.0 0.0
NoH = H 5 4 0 0 0 9 444  FH E E E W 5.7 11.1
IfI%qeT ¥ I 4 5 0 0 0 9 55.6 & & 3 E 2.7 13.9
" 3 4 2 0 0 9 66.7 W E R R ™ 3.1 22.2
H i ] 9 0 0 0 0 9 0.0 % W B E = 0.0
EAE VA S AN 7 2 0 0 0 9 22,2 # E O R x 5.6




L

fEETANA: 7/27

% B FE A 5 K AR R o
. - L FHAEHEA KW
== 7> P AN
mEa A L S N O) % 1 0> ¥
2% 7T Ivo< 0 0 0 0 0.0 # & 0.0 0.0
S TN 3 IR S 4 1 0 1 100.0 # & E 12.6 41.7
vyaeALFEY Iy 1 0 0 16.7 B %k /50 & (BH) : 0.3 4.2
2 Bt Gl 0 0 0 0 0.0 % &/ FE x 0.0
XFATFH
FEES T, PTEE AR : 7/26
B R E B K AR FE s
e %*/EHE AEHERBAEOY
Jn = 7] AN
5 yoom 2R AT g %k 0 4
5 ¥ A Z R 0 0 0 0 0.0 3 & E R ) 0.0 0.0
R z ] 0 0 1 0 1.1 % % H %=« 8.3
ES o 955 0 0 0 0.0 % % H £ = 0.0
HD) BAEREREIIU TORLIRD NS,
+ 24 3 +
S8R b = X2t 28 i) X100

AT S X 4



